
Mathématique	
  	
   1	
  
	
  

www.aaecge.wordpress.com	
   1	
  
	
  

Exercice	
  Oral	
  	
  
Sujet	
  proposé	
  par	
  Se	
  Dara	
  	
  

	
  
Calcul	
  de	
  l’intégrale	
  de	
  Gauss	
  
	
  
Pour	
  𝑎 ∈ ℝ!

∗ ,	
  on	
  note	
  :	
  	
  	
  	
  𝑓: 𝑥,𝑦 ⟼ 𝑒! !!!!! 	
  
	
  
𝐷! = 𝑥,𝑦 ∈ ℝ!;   𝑥! + 𝑦! ≤ 𝑎!     , 𝛥! = 𝑥,𝑦 ∈ ℝ!; 𝑥 ≤ 𝑎  , 𝑦 ≤ 𝑎 	
  

	
  

𝐼! = 𝑓
!!

     , 𝐽! = 𝑓
!!

	
  

	
  
1. Calculer	
  𝐼! ,	
  pour	
  tout	
  	
  𝑎 ∈ ℝ!

∗ 	
  
2. Montrer	
  que	
  pour	
  tout	
  𝑎 ∈ ℝ!

∗   :	
  	
  	
  𝐼! ≤ 𝐽! ≤ 𝐼! !	
  
3. En	
  déduire	
  :	
  

𝑒!!!   𝑑𝑥  
!∞

! !⟶!∞

𝜋
2 	
  

	
  
Prouve	
  :	
  	
  
	
  

1. En	
  passant	
  en	
  polaire	
  :	
  	
  
	
  

𝐼! = 𝑒!!!𝑟  𝑑𝜃𝑑𝑟
!!,! × !,!

= 𝜋 1− 𝑒!!! 	
  

	
  
2. Comme	
  𝐷! ≤ 𝛥! ≤ 𝐷! !	
  (Faire	
  le	
  schéma)	
  et	
  𝑓 ≥ 0,	
  on	
  a	
  :	
  𝐼! ≤ 𝐽! ≤ 𝐼! !	
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3. Après	
  les	
  questions	
  1	
  et	
  2,	
    𝜋 1− 𝑒!!! ≤ 𝐽! ≤ 𝜋 1− 𝑒!!!! 	
  

	
   En	
  utilisant	
  le	
  théorème	
  d’encadrement,	
  on	
  obtient	
  :	
  𝐽! !⟶!∞
𝜋	
  

	
   D’autre	
  part,	
  	
  pour	
  tout	
  𝑎 ∈ ℝ!
∗ ,	
  	
  

𝐽! = 𝑒!!!𝑒!!!𝑑𝑦𝑑𝑥
!!,! !

= 𝑒!!!   𝑑𝑥  
!

!!

!

!⟶!∞
𝜋	
  

	
  
	
   Comme,	
   𝑒!!!   𝑑𝑥  !

!! ≥ 0	
  et	
  la	
  fonction	
  𝑒!!! 	
  est	
  une	
  fonction	
  paire,	
  
	
  

Donc	
  

𝑒!!!   𝑑𝑥  
!∞

! !⟶!∞

𝜋
2 	
  


